® LEACHS:

84A 84B 84T A

LT

=TT

e 94 84 2 180

g
S

IRENS S0 et Al off 2 LIYFE A= o Mic<=2] 70%(44H 0lot 282 e YT 25 71E9 100

U= B 120% O[30 S5, LR SE0N OI2YE FES LERITH2 457158 220l HEE SAIZ2A} 7 e 2
|

[E21140%0[512! RHAESHE 2F A50| QU= FR 160% OIGHIHK] ZTH5}0] HRUSBIM LFAZ HYX

© MEHKIZ U LK} My

O/O
fis

=

Ll

HYEAICH=

o 180M|CH("FENZZ0| ZHSH 2], M41X - MEHA 85m 0|5 ML 20% )

257

* i MTHe| HET AS0| HEE EAIZZXL 7S HETAS(AE O/ M= 71 82 7i51e BT ASS Teit)
71%2] 140% O[5! Xt (M2 HE BF AS0| Q= B2 160% 0[5

REHRE0 B3R M1 0 SHZSHE KA EE UEAIDEIZ T A ZOAIN) HESHALL A BB K|
I8t £917(240] 713 O|LYEQIMTY JIZ, K QI RREHCITARAISE
S| A4 SEEURI0010F 202N ASES ZE) EHRT SRR (M Hots AS7
X T BOIVI7HE ZEHS A AR A5310]
SxEMAYS 9K DREIRZIES AR AR 4 = S2f0f w2t 249
HobJps(AEks
HOHRA 1 A
EIQIRL] A Qloszy
- QlAlo] AL AINE FiE
HIZBHOF 510 M2 0IRIS, 519] 24,
T B QA £1010] 745

(Of2 =MChE YUt
NAS7IE
OR ]

70%): 120%)

o
=)
42 160%)

( S71Z 100% 0ot (MEFF 2F AS0[ U= B
@ YEFBE(30%) : AS7IE 140% O[5t (MERE 2T AS0[ U=
2) QMZZ [F= UBLZTOA ZEH0| Q= A THRIX} MEHH

TroHd -+ 2O ML OT ©
*EIE YR AIRYS I S 7IECE Al RF SOl W2t = 2HIE oI, M1=2(0 RUSE
DrERR EEEE 129
- iR SQABA | U= HIRXIRHY ETI2t 5 RS S S0IAL Ldet
HIB55EM 220 W2t 221 52 EMXIZ QIHEl= 201910 SYRHBIX] S22
FRE Y= 23
=Y ER0E YFEAEY S =QA0| = HiRARRe] 21717
U= B0t SIS,
@USRR EEEE 229
3) &2 =2 HofiM 20| U= B2 SR L
*UEHR SHIE 129 £ 2220M ZY0| U= Z2 OS2 &AMHZ SRS 1Y
O e FEAMX|Y HEXLH(ZUA) @ O RHA(EHOF 2 8) 27} B2 Kt
-T2l ZR 01 HiRAIt2] 2QIAA0M St AUSH 0l YE XS H3totE], T XHAZ 4 Mo 2212 M=
HHR2t STt RS ZE 40 STHE|0{0F 2.
- M= HiARQ| TIXHA(TE HILAS| KHA)= LIEAIet S5 FRUSSTHS 20| SHE ZRT 6l
@ O1gE XHAENOF 2B 27} 22 AR0= FHOZ WHE XL,
X YURR = UYRETH SRR EHEE0| UFMZ MY E B2, MUFHI= LTI ZR0A RFAIE7 12 A2 HIHR]
12 2 MREYSIAM, |4-HE 23 TN S) HES 27610 MR 2 YAYEIS =l = LI
TR UFob7| Tofl LFAIF7IZE 7HAIY 0]F LEE2 7I5AHAS B ML YLHASEME Sal
Of ULIEEN7E UFALY JHAILA] KL= FR0= YFERI 6| Hofl fFRIE7 |12 HA
TITME S3ll 01 21lE 4= ACH UF0FAT 2H MRS MESIA| §7iL, 28 S L= ¢
| HEE= Hol= SEAAS FAE 4 ASUCE
RIS 0IH 1MICH 1TE(EEE MEohs ZR0= 1M 182 TR 7IECE SSotEE M L 2%
00| Z{zf +IHot0] 1F0[2t= M| =fH, FHAE FHATHMZ XMy, HYFA= UFAZ MEE 78IS
HESES 5 H2U R2lol0] LIHGHAI7| HIE.

| LS.




3¢l 0lat

491

5¢1

62

721

82l

e
AS0|Qls

o
3

100% Ofat

6,030,160%

7,094,205%

7,094,205

7,393 647#

7,778,0233

8,162,399

oA T2
TIAJOI:I

CIELAS,70%) | Megs
[RI=PN=u]

Ol=740
M oT

100%Z=t~
120%0[st

6,030,161%~
7,236,1928

7,094,206~
8,513,046%

7,094,206~
8,513,046%

73936488~
8872,376¥

7,778 0243~
9,333,628%

8,162,4002~
9,794,879¢

Hi X -
AE"(')TOE_ 100%=2
25V e -
Ngsm wo | ~1A0%0I
e

6,030,1612~
8 442,224

7,094,20674~
9,931,837¢

7,094,206%4~
9,931,887

7,393,648%~
10,351,106%

7,778,02434~
10,889,232

8,162,400~
11,427,359¢

(HIAS,30%) | Alsge
D= A0
W=z

120%= 1t
~160%0lat

7,236,193%~
9,648,2567

8,513,047¢~
11,350,728

8,513,0472~
11,350,728

8872,377¢~
11,829,835¢

9,333,629%~
124448378

9,794,880%~
13,059,838%

-JIEAS NERS BE AS0| Y= FQ,
YR AST|Z 100% EHA| L2

. = —
- HQIAE  HESE B 420 QU= 7

| ASO0| HAE EAZZX} T

= = 7{O(2l =
BN RS AS0| s QTR AS

=] =
o YTF A5

2SO0 MR EAIZZA 7S HET 52| 140%E ZAGHK| 22010} 3

| 100%E ZIf5HK| QOLO} SHH, HE = 1
71& 120% &1t~ 160% O[5hlS

717y gmR ASe

SRR 5 MO

gl AML50

2 GHERIRHEH M 0leh)2l

FRISSSE YAS S0I61T ASAEO| LHA0IA F2/2)

TLro| o 212 =1

7 e SREM AR TR0 2 M (H,
LLIAES O7IAE L ODQYAS OIS GI7IAES

[ e ™
7|&E22 otil, AIHAIR! A0
0N}
oI} o|Z EE A}
ASS A3,

L 740 « A=
U= R AT 9

SolmiST Ot CTaT= =0

FRAENZ A= TS| IHCHYZ0Y

/| OoT1ooo

IREHE D2XQ ZR0I= SBAYS 2RHLE, A
=03

L T=2To _oT TS o

222 50(0j 2Y(QIR)HZ0| Y= Z:
215517, REDIO| HOI| ASS TiofsH0] B
Zi0712(@ 3|, AP 5)0] 4391 §02 S=elof

A0 X} RIS 528
£/§0] Z2fAH0|7 AS0| 2
HOpA| AofE 0= ASS Sa

M

21 F20= MRS

=
HE M3

QA ZQIEfOL= EfO} 4 212 717242 01%)
22x4| 220l HTHASO0| HIE HAE 224
= HUE SHASH
E=A0

Hoo—

QUKZ FTSHL O]

= = o
ASIZD 9

| 712t 7|Z=0=2 BHLCY,
4R FEEXH R A=

x-lig

=

SHE ASQ(H, M| 4581 528 A5

AHA
Tg_l'

= |k

YFRDYZIY SN 227 Y KLY}
YERDHZIY SR & ASS IR0 Lt

+ RIZARO[RN 22X 3 : AT MRIASY Tf
NYASS g HOR 510] ZRASUOS YBRASS

+ 991 0[A} 717 AST I — 891 7| P4 717 HBIAS +{1

BHhtolE), AlRIAS0] 2412 E[0f QIO

Ol WHAE(384,376) *(N-8), 100% 7IE} 3% N — 91 O At 7}71844




